2009-2010 7TH GRADE CONTEST SOLUTIONS

Answers

30. If A, B, and C are on a line, the distance from point A to point C can be 30.
3 ¢m or 11 cm. Otherwise, the distance from point A to point Cis
between 3 cm and 11 cm. A
A) 2cm B) 3cm C) 6cm D) 10 cm

31. Since SxRS has 3 digits and a ones digit of S, Sis 5 or 6. 1f Sis 5, 31
R must be 2 or 3, since the product begins with 1. Only 3 works,
since T>S.If S=6 and R =2, T=5<$, which is not allowed. XS C
A) 1 B) 4 05 D)6 113

32. Can the sides be 10, 10, and 20? No: the sum of the two smaller sides mustbe | 32.
greater than the 3rd side. So the sides are 10, 20, and 20; the perimeter is 50. B
A) 60 B) 50 C) 40 D) 30

9_2_8 _ 4 _7 33.

> g 18 ’ 18 14 18 181'8 77 D
A) o B) 35 O 1 D) 15

34. The numbers are the even sums 2+2, 2+4, 34.
242, 2+4, 2+6, ..., 2+196. There are 98 such _
sums from 4 to 198. D
A) 101 B)100 C) 99 D) 98

35. In 1 hour, the wheel rolls 30 x 200z m = 6000x m. Its circumference is | 35.
(2 X7 x2) m = 4z m. It makes 6000n m + 4n m = 1500 full revolutions. C
A) 100 B) 200 C) 1500 D) 3000

36. The product must be divisible by 210 because 2 x 3x5x7=210. 36.

A) 210 B) 260 C) 420 D) 520 A

37. Of 180 paintings, 180 —25=155 have blue and/or 37,
red borders. Since 110 + 90 = 200, 200 — 155 =45
have borders with both colors. B
A) 25 B) 45 C) 55 D) 65

38. The difference is (2+4+6+...+100) — (1+3+5+... 38.
99) = (2-1) + (4-3) + (6-5) + ... + (100-99) =
1+1+1+...+1=50. B
A) 100 B) 50 C) 25 D)1

39. Ones digits of powers of 2 cycle2,4,8,6,2,4,86...; 2009+4 has R1. | 39,
A) 22009 B) 22010 C) 22011 D) 22012 A

40. Work backwards: Gwen had 2 x $36 = $54 before buying clothes. 40.
Gwenhad % x $54 = $63 before buying food, so she spent $9 on food. D
A) $24 B) $18 C) $12 D) $9
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